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SECTION -1
quUg - |
CHILD DEVELOPMENT AND PEDAGOGY
- fasra e fyreror fafirat
There are 30 quc_-stions in all in this section.
questions are compulsory.

W GUS | o1 30 YA & |
Wt wv aifard §

1. The theory of learning proposed by Albert Bandura is
(A) Classical conditioning theory
(B) Cognitive theory
(C) Insight learning
(D) Social learning theory

Sofae S50 §RT WAl e & fogra &

(A) IEE e fagr B) EES g

) 3iee s b))  gmiten St fagr

2. How many personality factors are proposed by Raymond Cattell ?

(A) 05 (B) 14

€ 16 (D) 08

Mg Heel g1 fova e wRe waifad fad ™ § 2

(A) 05 (B) 14
12) 16 (D) 08

3.  Which of the following is not included in Maslow's hierarchy of needs ?
(A) Physiological needs
(B) Individualism and collectivism
(C} Love and belonging
(D) Self actualization

ft o @ @1F-T g Y FAvERATSA % USIFH H Fhaferd 7@ & 2

A) s mavgsmHant (B) AR Taq THEER
(C) ¥ Tan Ragdl (D) ARG
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posing desires present in an individual at the s
(B)  Frustration

(D) Pressure

ame time is called
4, Two op

(A) Conflict
(C) Anxiety | |
wwﬁﬁﬁwwmfﬁﬁqﬁamﬁwmm%

W T B) el

(C) Bl (D) <9E
5.  Which of the following researches is associated with Stephen Corey ?

(A) Basic research (B)  Behavioural research
(C) Scientific research (D)  Action research
RrfefEa & & SH-T SEUR A SR Y wEa ¥ 2
(A) ST STEYH (B) RIS AU
(C) AMHF FHTEUH D) FruraTE IEuE

6. Remedial teaching is used for which kind of children ?
(A) Fast learners (B) Slow learners
(C) Gifted children (D) Creative learners
IUGRTHE T1er0T iR YR & aeteh! & ford UG il € 2
A} A ¥ WA ot _B) O HiE At
) wfasrenett e (D). TIAIHSA § W@ ae

7. Playway method of teaching is based on
(A) Theories of methods of teaching
(B) Principle of growth and development
(C) Sociological principle of teaching
(D} Physical education programme

fereor it Qe fafy v fegra w0 amafa 2 2
(a) T &t fafygt & fagrma

4B 3fg 3R g 1 fagr

) e = gamETEE fagrg

(D) ¥R frear Frdspn

7erre |RIENAN @
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8. Who was the Chairman of National Steering Committee on NCF, 2005 ?

(A) Prof. Kothari (B) Prof. Mehrotra

(C)  Prof. Yashpal (D)  Prof. Ram Murti
. §l. TF., 2005 F U Reaftn winfy % sraw £ 9 2
(A 5. e (B) . W

(C) 9. JIUTA (D) S, T g

9. RTE Act, 2009 is for the children of which age group ?

(A) S5-12 (B) 12-18
(C) 7-15 (D) 6-14
sRA 3. sfufrm, 2000 fF 3 T & arer % fd ¥ 2
(A) 5-12 (B) 12-18
(€ 7-15 : D) 6-14

10. Which of the following is not a physiological motive ?
(A) Achievement (B) Hunger
(C) Thirst (D) Sieep
frfefaa & @ &F-a1 e afirs =i & 2
W SR B @
€ @™ o) TR

11. The psychological basis of teaching-learning depends on

(A) Teaching style (B) Course content
(C) Language (D)  Socio-economic status
femeur- st &1 wAAETE STUR fhe W PR FRaT 2
W ST e (B) fawz-a%g
(C) W . (D) Q-3 TR
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12. According to RTE Act, 2009, the Pupil-Teacher ratio for prnimary ools

should be
(A) 25:1 (B 35:1
(C) 40:1 (D) 30:1

s 3. sfufram, 2000 & aFER i faamert & ford fergeft- 3TEATIE ST
e =ed
(A) 25:1 (B) 35:1
JC) 40:1 _ (D) 30 :_1
13. 'Midterm Exam' is an example of |
(A) Creative Assessment
(B) Norm-referenced Assessment
(C) Summative Assessment

(D) Diagnostic Assessment

‘marafy ghe’ T I €

i) TOARES qodiEd & (B) TMUS-TRIAd qedih B
(C) AT qediE & (D) i gedis &
14. Which disease is hereditary ?
(A) ADHD (B) Phenylkitonuna
(C) Parkinson's (D) HIV-AIDS

FIF-T1 T G & 2

(A) TETEE. (B) WA
(C) URiF~= (D) UA.AEA.-TgH
15.  Which of the following is a performance test of intelligence ?
(A) Bhaua Battery (B) Rorschach test
(C) WAIS : (D) Raven's SPM

77777 AN
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ﬁqﬁ%ﬁﬁﬁﬁ-miﬁ.ﬁmﬁwuqﬁmt ?
W) e B) T e
(C) 3=, D) & & wWwam,

16. “Human development
but the order of devel
of development does

goes on for a lifetime, although two people are not equal,

oOpment remains same in normal children.” Which principle
this statement point to ?

(A)  Pninciple of continuous development
(B)  Principle of interrelationship

(C)  Principle of uniform pattern

(D) Pnnciple of general to specific responses

“Wfﬂmmmmi,mﬁmmaﬁﬁﬁt.ﬁﬁlwm
wnhmmmwmmh“mmm%fmhmaﬁm:im
FAR

A TAFEm s REA @ wew dév & g
JC)  wum frEm & fagia (D) Amra § fatre sqfeman & fagia
17.  Which s the final stage of cogrutive development according to Jean Plaget ?

(A)  Sensor motor stage (B)  Formal operational stage

(C) Post-operauonal stage (D} Concrete operational stage

3 frara & san dweras e # st wawn 3@k

(A) WERE g wamn B) A sfEurarE e
(C) IW #Fa=# sawq (D) A dfFaAE s
18. The Father of Genetcs 1s
(A) Gregor Mendel (B) Thomas Hunt Morgan
(C) James Watson (D)  Charles Darwin
A & T &
A) TR E=-A (B) 9NE &2 OMA
(C) W aE|d (D) T4 fEA

rrrrr | Laa Fro
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19. Who propounded the Psychoanalytical theory of Personality ?

(A) Abraham Maslow (B) Sigmund Freud
(C) Carl Rogers (D)  Jean Piaget
e 1 TSR fagTa e St & 2
(A)  STTEH HIEA 4B) famwg .m's
© W () ¥
20. A 10 year old child has mental age of 12, then what would be his .Q.7
(A) 100 (B) 90
(C) 12b (D) 110
TF 10 FNIG AeTH B AAGES Y 12% 7 ITE ghg-earer @
(4) 100 (B) 90
Y o 10 | D) 110

21. Which of the following is not a biological factor determining individual

differences ?
(A) Heritability (B) -Innate temperament

(C) Parent-child relationship (D)  Physical health
s e ot fruifa & & frg & & @-w Haw w1 7@ ¢ 2

(A) TR (B) A @
(g) S-S T (D) AR Ee

22, The cause of Down's syndrome is

(A) Trisomy-20 (B) Trisomy-21

(C) XXY chromosome (D)  Trisomy-22

13T AR T HROT @

) FrrgEa-20 B)  BrprgEar-21

(C)  XXY TR (D) UTgEar-22
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23. The concept of reliability refers to

(A} Objectivity of instructions (B)  Purpose of measurement

(C)  Consistency of scores (D)  Uniformity of scoring
fanreeftaar &) srauron @ amm 2
(A fie ® agfrea B) I ® R
(C) W F AX@RA ) TR F AEET
24.  Which of the following is not an example of projective test ?
(A) TAT B) SCT
(C) Draw aMan (D) MMPI
Fretfefaa & & #-a1 meid s @ seeo @ & 2
(A aTd B wHA
Jo) U (D) T @
25. Who propounded the theory of multiple intelligence ?
(A) Howard Gardner (B)  Jean Piaget
(C) Dawvid Weschler (D)  Enk Enkson
wg-gfe 1 fagr feem wfowfea favan -
A7) ETEE MER B) ¥ frawt
(€ 3faz R D) s e

26. , According to NCF 2005, the main goal of Mathematics education is
(A) Training of teachers
(B) Classroom learning
(C) Mathematisation of Child's thinking

(D) Course content of Mathematics

T H.UF. 2005 F AR, T fereror 1 W@ IRV ¢

(A) femrant &1 wfereor

(B) TSN AT

HC) TS & A I OB
() T it fervaEg

7 WA @
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28.

29.

30.
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Learning through reward and punishment is related to which theory of
learning ?

(A)  Social learning (B)  Operant conditioning

(C)  Classical conditioning (D)  Cognitive theory

AR T 3vg % T @ W s % e fagr @ gafE € 2

(A) ST dhen B) fwrar-uga srEya

(C) VT rEyw (D) HIHES fagra

Which of the following is not a process related to learning during childhood ?
(A)  Past experience (B) Reflection

(C) Imagination (D)  Argument
Wﬂﬁﬁ-zﬁnﬁmm%%ﬁ@%ﬁmﬁmﬁ% ?

U G CL I (B) wifae

L) e (D) @&

Which tests are designed to measure the effects of a specific programme or
training ?

(A)  Personality (B) Intelligence

(C)  Achievement : (B) Creativity
W%ﬁqmmmﬁmwwm%ﬁﬁﬁmm%qﬁmﬁ
uRenfoad faar smar ¥ -

G B ® e

(C) 39y (D) TEATT

At which stage of development an individual faces the problem of vocational
adjustment ?

(A) Old age (B) Adolescence

(C) Childhood (D) Infancy

fara # feg mﬁwﬁwmﬁmwmm% ?
(A)  FSEEn 2 frviRreren

(C) ST . (D)  fery] sraen
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fedt

W @IS 4 e 30 WA R
it oy sifErd €
31, "S- oneh § frm woreh @ e wu & g’ el o e € 2
(A) TR ot (B)  FEEFA TR
L) TS YR STt (D) FTTHA JOTEA
32. e foem ggiaal d wie el & wmw vam @ g e € 2
A A AR feenfes @ B Wk ¥R faga A
(C) FARI &oiH TThes & (D) T AwE H
33, “foeEl F T T 57T T TIT @ @ TR | TG a0 B 6T GgH B3N
T @ ot IR T T A | e S el § A oged & 1 a8 B ¥ @
3% UGS | IS &I BhY U & 9gw |
0 HUF WNE HvE | fwww €2

(A) R (B) T W
4C)  EEE o sEFE

34, TIET-TEAH! % WA F A T e A el b AU ¥ |
4A) W A T e | (B) gﬁ%ﬁm&?aﬁ’mﬁﬁ%ﬁww%l

Q) T R A G AN E | (D) W FH A A §
35, T-fereqor & IuERT SEA-gvE WA €
& T B T

(C) ¥EMUg (D) URA -
36. ﬁmwﬁmﬁmm%ﬁﬁﬁﬁﬁw-ﬁﬂwmw&a—maﬂmﬁ,ﬂ

g

(A) 5T wEE (B) &% 9™
LAC HHYRG GHTE (D) agaﬁ: gz:m:r
37. ‘ﬁoémm@ﬁﬁzﬁ‘aﬁuﬁ%@fmmﬁﬁm%
(A)  UICATITETEE (B) SATwaTT®
(C) THdardH D) A
38. ﬁmﬁ%ﬂﬁ@'a@m'%mmmmﬁwhﬁ%
(A) 3 B "
) - D) |
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39. IW foemyne w1 4 aARu (R FE 9, T U am g, maTTE 0F Jel, AT
T M F w
(A) A (B) ZHFEAT
(C) WEE| (D) Wz
40-'Wﬁmwmﬁhﬁmuﬂﬁﬂ'ﬁfa$ﬁl&ﬂ'wwgg@mha
(A} =feTA fisrm 0 A&
AB) W & I yEmTenen | e &
€) TGN F mnam g e wwE #@
(D) §F % unam g faen 37 |
fFrefefaa maiw & smm w uvs W= 41 @ 45 7% F I AE0
W, WA HR 3T AT T & e e T s H g &1 A # o
%'memﬁmmmq&zumﬂuﬁmamﬂmm
3 F AT W P F AR S A fafay ue @ W FR A A e
<l & 1 AT w @ § fE aw S faaRt st A AR Ade S A9 ST A
R WAYE F WA qEAT & A AR & f S SE @ AR SR SR
TG TR F S i H A G gu A e & {6 Wl @ I S
mmﬂﬁmmwmqﬂmmimmmwmwm
A& 3R & 1% 7 @ 78 @ wie 10 ST €
41. ‘N V= F w@gETE ¥

(A) drgg (B) e
(C) wA D) T
42, 'I9 w1 faEm ¥
(A) A ' (B) 34¥
€ 3= D) ¥
43. ‘o0 fed ¥ foru Foran mrr ot arier % forw o vies 2
(A) TSR (B) Wﬁ
*C) @ D) ¥em
44, oY’ W= § Iyt &
4a) fa @ &
(€ fag _—
45. ‘ggrIte’ W1 ¥ WA 7 R &
Yo st B) ey
e (D) wHuRE
Ceccl [T =
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46.

47.

48.

49.

50.

51.

52.

53.

frafeafea & @ #59-8 o0 9 dgar g

(A) K T B

(€ e, ._4(0)1 @am;w

Yeat afrms qmn &

A) ¥ S (B) S=A-379 s wh
©£ aaaﬁﬂmwmﬁ (D) ¥4 &f

wafd, ¥ T AT T A e e 1 w3t 2
(A) FIIAEE I (B) WWE%W |
() THEE ¥ D) THEE

foTeTe ¥ATE, Sl 41 T W AER] !

T o e v mbtnt
) SRt faf 4B) TR A

(C) gl fafy (D) % wieie fafu

13?;:?7“&% o & T, W@ﬁ?ﬁwaﬁqﬁﬁwm%m

(A) F[EFT{W (B) EERIGCIRAE]
) TETS A ) T Y@l
W%Wﬁaﬂmwnﬁﬁﬁq?{m:

(A) g}ﬂa—ﬁﬁ’fwmﬂ?t <

D) I S TS T W I AR T T | «

R} e & TR % W ST A €
4 @ B
© T (D)

q“ﬁmam@q,aﬁﬁaﬁw%wm aﬁaﬁﬁﬁﬁaﬁmﬁ
(A) T @ fdt =it FM Al HA

(B) A @A & HAE FdE

(C) Waﬁm?ﬂmﬁ

o) e et TR 3 e S8 T A

ooeal | |11]]!] [444]
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54, ‘Wuer' ® few @iy w1 wm d ?

IV Jo T

© o ) 3 e el
55, ‘qﬁﬁﬂam%%ﬁ*mﬁmé%@qﬁwmmmlﬁ

A T T - BALCELL

) UIH T () R A
56. ‘Maﬁmwﬁ'aﬁﬁz$mm.ﬂﬁﬂwﬂaﬂ%7

(A)  forarares 4B TR

() HHaH (D) AP

Wm%wmwmsvﬁsoﬁiﬂm:

breneah o @ e o L |
mwwi,ﬁqm%léaﬂ%ﬁﬂwmﬁmﬁmaﬁm
wm@wﬁ%.mwﬁmﬁzmﬂmﬁﬂﬁﬁ*“ﬁﬂwm%
sk TR T, fRh e ¥ G e W e A o
mmmﬁmmmﬁmmmiamﬁw*mm‘
mﬂﬁﬁ%qﬁwﬁquﬁh%@@ﬁ@“ I e R
A TE0 F H A HFEE ¥ | TD -7

1fgu |
57. ‘fagr’ & wifenT €

(a) Hfest B fagel

€ H o) fopt
58, U, A F1 WE T

W T 4B T -

©) am - w (D) i - Hieew
50. ‘T VI N WE ¥ 2

) B) =

) TR | D) TR

60. ‘@*@mﬁaﬁﬁ,ﬁﬁwﬁwwm%mmﬁﬁ?wﬁ
FA-T FA & ?

) T (B) W oA Hied
(C) FWEA TAHH FeA (D) THE FHA FA
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SECTION - 11
LANGUAGE - 1
ENGLISH
There are 30 questions in all in this section.

All questions are compulsory.

31. Which of the following words is correctly spelt ?

(A) Vaccum (B) Vaccuum
(C) Vaacum (D) Vacuum
32. The two kinds of reading skills are
(A) verbal and visual reading (B) slow and fast reading
(C) silent reading and reading aloud (D) all of these

33. Which of the following is a criterion for selection of a writing task to be given to
the students to develop their writing skills ?

(A) Interest of students (B) Level of the class
(C) Both (A) and (B) (D) None of these

34. Multimedia resources do not include
(A) Audio resources (B) Video resources
(C) Computers : (D) Pens and pencils

35. Who has given the concept of Transformational Generative Grammar ?
(A) Edward Sapir (B) Roman Jakobson
(C)} Noam Chomsky (D) Ferdinand de Saussure

36. Which one of the following skills uses praise words and approving statements to
motivate the students ?
(A) Response variation (B) Explaining skill
(C) Reinforcement (D) Lecturing
Passage ( For Q. Nos. 37-40 ) :
We all use roads. We walk on them or drive our vehicles on them. We go across them
or walk on the pavements along them. In cities there are footpaths or pavements along
the roads. Those who walk on them are called pedestrians. It is safe to use footpaths if

we are walking.
e very busy. They are crowded with all kinds of vehicles like

Roads in big cities ar
bicycles etc. Slow moving

buses, trucks, cars, three wheelers, motor cycles, scooters,

bullock carts, horse carriages, etc. can also be seen there. Walking and driving on

e |11 s

https://www.pygonline.com IURESRRTS: WL (e

P.T.O.



https://www.pyqonline.com/

STL;

M 16

: f the road
such roads is always very risky. People in a hurry ignore the rules o ang

. : day. The be
cause accidents. A lot of people die or get injured in such accidents everyday 8t
way to avoid accidents is to obey the rules of the road.

37. The synonym of ‘pavement’ is

(A} Road (B) Traffic
(C) Footway (D) Walk
38. The antonym of ‘busy’ is
(A) occupied (B) idle
(C) tired (D) freedom
39. Find out the word from the passage that means, “The people who walk on a
pavement”.
(A) Bullock carts (B) 'Horse carriages:
(C) Pedestrians (D) Vehicles

40. The verb form of the noun ‘driving’ is

(A) drive "~ (B) undrive

(C) driver (D) none of these
Passage ( Q. Nos. 41-45 ) :
The folk dances of Rajastha.ri are inviting and engaging. They are bound to induce you
to tap a foot or two along with the dancers. Rajasthani dances are essentially folk
dances. Their origin is in rural customs and traditions. These traditional dances of
Rajasthan are absolutely colourful and lively. They have their own significance and
style. They are attractive and skilful, They are enjoyed by every age group. The people
of Rajasthan love their folk dances. :
41. The words ‘inviting’ and ‘engaging’ are

(A) Nouns (B) Adverbs

(C) Adjectives | (D) Pronouns
42. The sentence, The people of Rajasthan love their folk dances” is in the

(A) Simple present tense (B) Present perfect tense

(C) Simple past tense (D) Past perfect tense
43. The word ‘Rajasthan’is a/an

(A) Common noun (B) Proper noun

(C) Collective noun (D) Abstract noun

7zr77 [N
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44,

45.

46.

47.

48.

49.

50.

S1.

52.

Whjch one of the {ollowing sequencea has the three degreea of the adjectives in
their correct form ?

(A)  Lively, more lively, most livelieat
(B) Lively, livelier, liveliest

(C) Lively, more livelier, most lively
(D) Lively, more lively, livelieatly
Which of the following phrases has a determiner in it ?
(A) Customs and traditions

(C) Attractive and skilful

(B} Colourful and lively

(D) The folk dances
The study of speech sounds is called

(A) Morphology
(C) Phonology

(B) Etymology
(D) Chronology
The phonetic symbol for the underlined sound in the word ‘shy’ is

A ] (B) s

© tl (D) ds

Choose the correct phonetic transcription of the word ‘boy’ :
(A) /bsl/ (B) /bdl/

(C) /bal/ (D) /bol/

“The peon opened the gate.” The correct passive transformation of the sentence
will be

(A) The gate will be opened by the peon

(B) The gate was opened by the peon

(C}) The gate is opened by the peon

(D) The gate has been opened by the peon

Which question form is correct in its structure ?

(A) Do you go to college yesterday ? (B) Does you go to college yesterday ?
(C) Did you go to college yesterday ? (D) Did you go yesterday college ?

Measurement is a process of ................ . evaluation.
(A) Qualitative (B) Quantitative
(C} Linear (D) Unitary

Choose the correct sequence of steps in managing classroom teaching :
(A) Controlling, planning, organising, leading

(B) Leading, organising, controlling, minding

(C) Organising, controlling, leaving alone, commanding

(D} Planning, organising, leading, controlling

777 |NRNENH 444 PTO.
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56.

57.

58.

59.

60.
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The Language Laboratory is used for teaching 1
o s
(A)  Speaking skills (B) Listening 8K!
c
(C) Both (A) and (B) (D) None of thes

Which of the following is not true of CCE ?

(A} It focuses on co-scholastic arcas also

(B) It promotes holistic development

(C) Itis time consuming and punishing

(D) It reduces stress and anxiety of the students

: : signed to evaluat,
Evaluation of language proficiency is done through tests desig

which of the following skills ?

(A) Listening, Speaking, Reading and Writing
(B) Listening, Reading

(C) Speaking, Writing _

(D) Writing

Which of the following is not a principle of language teaching ?

(A) Principle of naturalness (B) Practice and drill

(C) Learning by doing (D) Copying and pasting

Multi-line approach consists of

(A) use of models |

(B) reaching the same target from diffcrcnt directions and means

(C) selection and gradation

(D} all of these

Which of the following is true about the'Grammar-cum-Translation method ?

(A) Mother tongue is used while teaching

(B) Form is more important than content

(C) Rote learning is encouraged

(D) All of these :
Which method is also known as the natural method of teaching English as
second language ?

(A) Substitution method (B) Bilingual method

(C) Grammar-Translation method (D) Direct method

Which of the following English teaching approaches is student-centered and
student-oriented ?

(A) Communicative approach (B) Situational approach

(C) Structural approach (D) All of these

https.//www.pygonline.com
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31.

32.

33.

34.

35.

36.

19 ]
avx -1
RLLUES
wRA
3 v s wf
W& S g
farge: ' T faEmreniy -
A) q& B
(C) s (D) 9
“fefier1 AferahT B T 26 ¥ are arrre wegrER: S —
() Fofere T g i @) fofere afeem qer Tt
() Foiker aifernt qead Tt D) forferesr aferran qeaen ifa
IITEY AT B BT FREfa 2
(A) HET FRH (B).  ITSUT BT
(C) T Ve D) ST FIEA
T Tgel IAe: E e aRf, S et wefd favar 7E 2
() FweR fafu: B)  ammA-frm fafy:

(C) srag-safae faf: (D) ararenyg faftn:

LSS R UGS WIHIfaeh: F9: 3T —

(A) %A, U3, @, o (B)  TNUI, sV, TS, HEH

(C) @i, Wi, Go, TE (D) U, S, o, s
grSUTTTaoTY SR G sT-fer : e @i ?

(A) TheT-gewifiarar: fagr: (B)  STETE- #feE: fagr:
() wmwfawanr: fagr: D) e fagr:
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SECTION - 111
LANGUAGE - II
ENGLISH
There are 30 questions in all in this section.

All questions are compulsory.

With ......... :
th students come to see the tests not as a punishment but as a

uscful feedback. The classmates work together for ‘common intellectual welfare’ :

(A)  Self evaluation _B) Group evaluation

(D) CCE evaluation

“What do you think about the two candidates in this election ?" This is an
example of

(C) Peer evaluation

wA) Open ended question

4B) Close ended question
(C) Both (A) and (B)

(D) None of thesc

Which test items consist of a stem, the correct answer, keyed alternative and
distractors ? i

(A) Diagnostic test
£) Close test

(B) Mﬁluple choice test
(D) Oral test
The remedial English classes are very helpful for the students who are
(A) below the age of 18 years <
JBI unable to achieve the required grades,
(C) poor and can't get formal educationw.
(D} rich and can afford computer

Feedback is always

JA) Summative (B) Formative
(C) Annual (D) Objective
‘Petrarchan’ is one of the categories of
(A) Ode (B) Elegy

4C) Sonnet (D) Drama
The number of pure vowels is
A 9 (B) 10
(€) 11 | | AD) 12

77777 EINENL | P.T.0.
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68  p.tkoos [ h tf/ arecalled

. ants
celess consol
A Vowced consonants (B) Voicel

ven AP e 1S
(€C) Pure vowels [[)} Impuu \mul
6 ‘ ird
i l.I.l"ld of the wt
9. Choose the correct l)hunﬂic 5}'!1\1)0[ for the underline d so

Water
(A} /wot] / (B) /west/
(€l /wda(n/ (D) /wDfru:/

70. JFil\d out the word which begins with different sound from other given words :
(A) Reach ‘ \(Bp"Reap
(€) Rich (D) Read

71. "When to the sessions of sweet silent thought.”

Which literary device is used in the above line ?

JA)  Alliteration (B) Personification
(C)  Simile (D) Metaphor
72 What device is present in the line *If ought of oaten stop or Eastoml song” ?
(A)  Irony +1B) Assonance
(C) Paradox (D) Alliteration

73.  “She was a phantom of delight.”

Which literary term is used here ?

(A) Elegy (B) Simile
AC)  Metaphor (D) Sonnet
74.  “As green as emerald” is an example of
(A) Allegory (B) Hyperbole
(C) Satire AD)  Simile

75. “Peace hath her victories
No less renowned than war.”

What is personified in these lines ?

(A) Victories (B) Renowned
v1C) Peace (D) Less
76. Which of the following contains the same vowel sound ?
_A) Bite — Lite — site (B) Bill — bell — ball

(C) Like — look — luck (D) See — say — sick

o (NN
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77 The commlumcatwc approach in teaching of English has been practised and
developed in ‘

(A) India and China
(C) China and Japan

(B) India and Sri Lanka

AD) France and Britain

78. Which one is a cha '
a challenge in the process of teaching English language class ?

A4A) Less interesti ' ir
) esting teaching S‘:tylc (B} More interesting teaching style

(€} Reasonable time management (D) Good lesson preparation

79. The excessive use of mothe

r-tongue is
A} helpful in learning English

(B) a challenge to learning English «
(C) a substitute of learning English ~«
(D} none of these

80. “The teaching material should be in accordance with the mental age and should
have relevance in real life situations.” The statement refers to

A Principle of habit formation

(B) Principle of selection

(C) Principle of gradation

(D) Principle of controlled vocabulary
81. “Two roads diverged in a yellow wood 4

And sorry I could not travel both h

And looked down one as far as I could 9

To where it bent in the undergrowth” }

The rhyme scheme of the above lines is

(&) abaab (B) AAbaa
(C) abalba (D) Abbaa
82, T, give him an answer if he had asked me.
%TA) can (B) may
J€) could (D) might.

83. Choose the alternative which best expresses the meaning of idiom / phrase
underlined in the sentence :
“ met him after a long time, but he gave me the cold shoulder.”

(A) Scolded me ' (B) Abused me
(C) Insulted me w{D) Ignored me
e [T 444 PTO.
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ylem or STUg
84 Which literary term refera to the prol Y
A Cond (B)  Dra
_ Confhet
() Action

| ine
85, A form of drama that is intended to amt

B) Comedy
(A} Tvagedy v[ '
(D) [lrony

(D) Climax |
and that ends happily-

(C) Biography
Passage ( For Q Nos. 86-90 ) h claims of its heavenly
Kalanpavatt is a traditional art practised in Kerala. Thm"_{ .,rm‘ti“d in Kerala ay
ongin are disputable, foreign travellers mentioned Kalan being | be in ;—xiqt(‘ncc
carly as thv 13th ce ntun which makes it the oldest martial art l(’l rt and 18 the
Kalan s mnmdrrrd to be the most complete and scientific martial a introduced
mother of all martial arts. Bodhidharma, a Buddhist monk from Ind}:ﬂ; i is much
Kalan into China and Japan. What makes Kalari unique is the fact tha k and
more than a martial art. A student of Kalari learns philosophy, medicine, dltd(‘ ank
self defence and, above all, learns how to avoid confrontations, where he has to attac
somebody or defend himself.

: nd self
86. A student of Kalari learns .................. philosophy ................ attack a
defence,

Fill in the blanks with the help of given options :

(Al neither — nor (B) cither —or
AC)  not only — but also (D) as — as
87. Kalaripayatt belongs to India ................. Karate belongs to Japan.
(A) that . ~B) whereas
C) f (D) when
88. Some people still ................. of Kalari’s heavenly origin,
(A) claimed -{ﬁ) claims
(C) claim (D) were claiming.
89. Kalari....... . . the oldest martial art to be in existence,
HA) is (B) was
(C) were (D) are
90. The most suitable title for the passage is
(A} Drawing and Painting *B) Mother of all Martial Arts
(C) Table Tennis (D) Lawn Tennis

77777 |V 344
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(A) 820 (B) 28
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AT F ®) @ R
(C) 8 aanr (D) e FHN
00 NI s Wy s —
A g (B) afd
€53 (D) WY

Wwwqﬁﬁnﬁw&mm:(m-ﬁ)wﬂmz—
Tt SRRl S S

&1 R SARAR: |
f a7 e g,
feemmgt e g |
70, AR I & wm: s ?
) TEiteamg: B T
(©) FHYRagTY: o) ACIRTHA:
71 T i wfy afy - |
(A Irafegfy. (B)  TorHfy:
() w=TTy: D) formtafy:
72 R I F: e g
@ | ® g
© * O
73. 'Y 3w @ favf I 2
) g B i
©) W (D) @?ﬂmmwr
77777 WA
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7S.

76.

77.

78.

79.

80.

81.

82.

37
' g feb fe 2
(A) ‘ifﬁﬁ fH

o B)  feafergm
(©)  TGHBIAFH o A
mﬁﬂﬂi‘\ﬂ T BTE: T fay )
o )‘: | (B) FHRaAl
(.C' ° (D)  deren
W A A A a1 9 S S
vafd ?
A e (B)  HT& fafir:
© s o)  swenE faf:
WIS i Hvey ARy —
A X (B) WTH
(C) @GR N
YRS safd —
(A) TR arEd AiTaraey ) v T
(C) ¥R YA (D) iRy feftred SFaauR]
IO STl TR forersr: fafiee foetot safd, @@

fm 2
() T R @ S R
(€) ITERTEH fareony (D)  fafyra Fereror,
TR HeATgy Wi — |
(A) TN FEEHSHARH B o R
() = FrEmy D) W
‘T o TBT o ¢ |’ 3l S WEHAA $od —
(A) HH e T (B) W wef O

. () TH Gl Ted (D) 3 et Tt
FATTAT vvrierirnnins | frre @d —
(A) < (B) e
(C) 4. (D) :qu[
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- a8 Sm,
83 3 Yd WA arm A armuf@dd watd -
(A 3 Y&l IB (B) WW
(€) T QA gary (D) WWW
84 aFfE wWemvaa - oy ofea: A= wf - \
(A) T afa: o wf iy e o S T
© T oRa: s wfa oy e e A
mﬁqwmmmmmﬁmrm;(as-gﬂlm:“
@ f fasmewar g | sw e e e T G S A
oy amd 73 fasr awrd @ st | et AR PO TNEA A v,
w0y figgw | dwWtades anfaser: fafear: | A EAETH Sy,
s ottt A s g fa: ITART FAE: 1 g
FEETEEE SR Ak | srlse qefs TREEeTTHE T I
85 W' @ w1 favfw: afa » '
(A) e ) faeit
(C) w=t (D) T
86. mﬁﬂﬁl*wwﬂﬂ'ﬂ—
A) fasma + 39 B) faEme + 09
€ fam+ 729 D) fawme + @
87. 'R’ TN & WAy 7
(A)  F + AT B) F+ ¥
€ F+gL (D) & + A
88. USRI snferswR: fafean: | eaw arE Provgew favrered e
(A} ST (B) 3% |
(C) 3nfTsEmT: (D) fafeam:
80 ‘Ui’ I wHTRfaTR el —
A)  vifey sHfTwe (B) b 319
(C) ¥Ieh: FHigy (D) ¥°F: gy
90. "HHIT WE: WHid avitger Al ... g sfte et areragey arfa -
(A) TS (B) 9mfq
(C) wF (D) @q
o7 LRI [444]
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¢ o Ludiiui U B pbry” 62
A s ple (1) PYARTEY RSN
HASMAE PG L3 b S (D) IME Sz pdr (C)
¢ e e 63
4= tbsa 678 (B) 4;-.':11,!-‘. (A)
AT 4ebal (C)
¢ o Jnu SR P W E p L s 64
2 P w
2A846 (D) 28451 (C)
¢ LSl ne' U .65
/6 (B) Lodiele (A)
t® (D) tls L7 (C)
c 2l 12l (70 £ 66) e o sg Sor S T s
Ue Jbier W = Uz <l
e ot J U o ufw'(’
B bt Slun ot e p
e g ox s o A
F Ul s Bl o o 0 2ng
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e Ut B e ol S
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e U N ef

“c,'._lfuf/wéd—/li

g : & (A
decide (D) J&Jy (©) ftz (B) o

(L (D) fe} () Syt (B b (A
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U4 (D) ds (C) gy (Bl Ao
BB e 2 e

¢ i (B) gk (A

vbt.uef (D) JKJ”" (C)
q_wws’_@uw&;bﬁb/b

<A (D) & («© Uiz (B) e (A)
0 B A 7

12 (B) 10 (A)

11 (D) 14 (C)
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57 (B) $io (@)

Jrfe| (D) el (C)
AU oa

=/ (B) =/ (A

u* (D) | F ©
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v (D) = (C)

rrr7 | MR 444

https://www.pyqonline.com

¢ e L u;!w“.r,rwt)fszuﬁﬁﬁ”

.F);'

£

64

70

71

72

.73

74


https://www.pyqonline.com/

STL-1

41 "
el 75
ey Ji (A
% (D) -1/ (C)
?wL/(IJILJ'uC-E)’&L’,LLuFug 76
“rdred Sl ()
HSiss e S8 7 (Q)
‘ ‘f-t:é'w?.)’l,u,f K_lFloya L LiES L Lty TT
2 S5 (B 24NN (A
3407 (D) - S HE7 ()
e BHERNE\FLey T8
3660 (B) 3407 (A)
344 (D) P57 (C)
. ¢ e LLUPIAI U BREAPT9
ey (B) b_;geJ;zr_f (A)
U#(C)si(B) (D) _,;@&PL';(:L” (C)
¢ apbuid by poniehz s 80
Ul 7 (B) AL ()
~f D) LELAF (O
cel 12 (85 ¢ 81) awré;;/@szﬁuibn
S ASU S F Sk s B s e Lt 23S L Uy
Ao erde Ttus ki ¢ e Lol S Uy ploldoan ool B At B Loy, 2
Sorfuid ol s Kbl puing L W S f5S 2o S owini
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¢ e e n' S Lyl 81
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SECTION - v / mvg _ v
MATHEMATICS / TTfUoTq

are 30 questions in

All que

There all in this section.

stions are compulsory.

8 EUT 10 e 30 WA &

™t o e ¥
The non-terminating recurring number 0-123 is equal to the fraction.
123
A —= 41
W 1000 B 353 R
qac
=L Al 3
300 -8 335

A 3T AT 0-123 & TWaT fyxy

123 41
A 1600 B 333

37 41
© 306 B 330

The cost of 16 coins of 50 pais‘e is equal to
(A) 4 coins of Re. 1 + 3 coins of Rs. 2

(Bl 3 coins of Rs. 2 + 8 coins of 25 paise
(C) 3 coins of Rs. 2 + 6 coins of 25 paise

(D) 2 coins of Rs. 2 + 3 coins of Re. 1

S0 UH % 16 ool &I Jod sEw &

\ ‘ -
(A) 1399 & 4 T95F + 2 9% & 3 g%
¢ )
AB) 2302 % 3fgFs + 2599 & g faah
L <
(C) 2% & 3fah + 2590 & 6 [T
“u g! :

(D) 29 & 2T + | 0 & 3 fawsh

ol TR
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2 3 3

—

; bers 7136
93, The right descending order of the following num 71

52 3 (B) 3,22
Q& I 13'7'6
W 5713 13
25 3
S 32 D S.%'73
e wemall 23 5 g wdt sl b &
7'13'6
25
Egi B _g-l_'l_
5 3 2 25 3
(C) 6'13'7 (D) 76’13
yd
2 _,.5
3//Thevalucof—-1—-(2§—46],13
e
9 (5
A 15 . @ (ng)
s 1 17
© -3 - 30°,
~13_(22 _ .5
13- (2% 46J3?rtn={%
9 9 -
(A) 10 (B) 1o
_17 17
(C) 30 (D) 30

95. The greatest number which divides 244 and 20

4 in each case, is
(A) 12
{C) 30720

(X ~]
52 such that it leaves remainde;

B) 16
(D) 15360

aﬁﬁaﬁﬁ@r,ﬁuﬁzﬂﬁmzoszaﬁﬁmﬁamwm%ﬁ4m
W &, 9% wer

A) 12 B 16
(C) 30720 (D) 15360
77777 NN
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96.

97.

el 110 s

45
P takes loan of Rs. 9 0gg at the rate of
' rate o

simple interest 85 % for 2 years and

8 months, th
en total amoun( (g by returned by him will be

(A) Rs. 2,040

(C) Rs. 11,040
(D)  Rs. 12,060

P 9,000 ¥ HT KT 8.5 o R w19t 27 7 o a8 g W F FoA foran, A I A
e T e i

M 2,040 Bo (B) 3,060 o

(C) 11,040 %o (D) 12,060 Bo

A cylinder of height 4 cm is formed after folding ( without overlapping } a

22 cm *x 4 cm rectangular paper, then curved surface area of this cylinder, 1s

(A) 88 mcm? (B) 88cm?

(C) 176 ncm? D) 176 cm®

szﬁx4ﬁﬁmmﬁmﬁ(mm)'ﬁ4ﬁm

Bl ST T 1| § A T THYS F A €

2
A) 88 xcm? B 88cm

2
© 176 ncm? () 176 cm

P.T.O.
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46 at € y I OF and O,
al I'_(J
In the given figure lines AB and (D arc interst ctnﬂf’.d . 0D = 25° then [COF.
1
angle bisectors of .- BOD and .. COB rcspcrll‘fw a
equal to
A D
0125 _E
B
C
F
{A]  130° (B) 65°
(C) 105° (D) 50°

s §1 7 OF T OF ==

ﬁfm&ﬁaﬁ‘r@f{wmﬂw,ﬁﬁomqﬁw \
= COF T E

_BOD T ~ coB ¥ wafgyraa & wd aig £EOD = 257

(A) 130°

D)  S0°

Area of a square field is 6400 m2. The distance travelled by a person,

5 rounds on its perimeter, is

(C) 105°

(A) 320m (B) 160m

(C) 1-6km (D) 32km

wmﬁﬁzﬂmmmooaﬁﬁr%lwaﬁﬁw 7 U & IR §

5 T T W a9 g @it

(A) 320m (B) 160m

}Cj 16 km

(D) 3-2km

77777 | KRS [444]
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100. Time taken to fjl)

101.

47 M

a4 water tank , th d
. . f s . a tap with spce
20 litre /minute, ig Ol8ize 2m > 1.5 m x 1 m, by P

(A} 9 minutes

(B) I hour 30 minutcs
(C) 60 minuteg

(D) 2 hours 30 minutes

PITISTmLm  E O & 93 s o g 20 e/ 7 @ o
d & a9y ?

e
AL (B) 1 guar 30 fEe

©) 2u% 30

C) 60 e

"Mathematics is the mirror of civilization and culture.” This statement is said by
(A} Bacon ' (B)  Berthelot

(C) Hogben (D)  Bertrand Russel
“nﬁmmaﬂtﬁ@%wﬁm%wwmwm ?

(A) A (B) wedre

Je)  FmE (D)  FZTT THA

102. "The act of combining separate parts.” This method is called

(A)  Analytic Method (B) Synthetic Method

(C) Laboratory Method (D) Project Method

" -3 9T B g1 98 fagea weetar €
(A) faveraor fafy (B)  Wveiyor fafy

(C) wETTeTe faty (D) uREeE fafy

77777 | §IEHITE P.T.O.
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d
) epen
103. The maximum success of remedial teaching dep¢

(A) time and duration

blem
(B) the correct identification of causes of pre
(C)  knowledge of linguistic rules

(D) remedial teaching materials

Wmﬁmmaﬁmﬁmmﬁﬁ?ﬁ?ﬁ%

(A) THY F Iyafy W @ qreE % 3 :
I
(C) T fagmi & 7AW _p) g

. . cmaﬂcs .
104. Arrange in correct order the steps of evaluation 1n math

1. Identification of situations

2. Selection of objectives

3. Selection of evaluation methods
4. Interpretations of evidences

S. Constructions of evaluation devices

(A) 2,1,3,5,4 (B) 2,3.1.5.4
(C) 2,3,5,4,1 (D) 3,2.4,5,1
nfera | qeate= & AUHE F FE FH T@0

1. ufiif@faat #t @e9m v

2. Rt wrama 7

3. HoaiwA fafugt &1 939

4. WHIT I SHTEAT

5. Hodisd wafugt s famior
M 2,1,35,4 B) 2.3,1,5,4
€ 23541 D) 3,2,4,5,1

77777 | BRI 4
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c student w
TR As as Fl!kr'(j to
’ Tead the ¢,

306,40ﬁ_408,4020

He reads ag follows, -

Tharty six, fnrl_v Six

the studen, d ‘
0€8 not Jike Maths class and finds the class boring

the Student
has Understood the concept of place value and its usc also
the student IS not fj for Study of maths

t .
he student g not able o Understand the concept of place value and feels
comfortable using two-dig;t numbers only

ﬁﬂﬂgﬁﬁ%ﬁﬂéﬁmaﬁﬁm&ammw:

306, 406, 408, 4020

wﬁﬁ‘mmw

ah‘a:, A B:, ureity A3, Ay g

%A H I w2 Ry

(A)

(B)

(€)

AD)

BT 1 I T STt et s 34 o 2
W#Wmﬁﬁmﬁmm%mmmtﬁ
aﬁnﬁmmwaﬂ#%ﬁmaﬁt-
wmﬁwmaﬁﬁmaﬁﬁm%aﬁw%ﬁmﬁ-ﬁﬁamanﬁaﬁ

YgAT HIGA #TAT 8 |

el T - PTO
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50 drcd and one, i1s

onc hunl
106. The digit form of one crore one lac on¢ [housaﬂd
1
(A) 11111101 @ 1010110
(C) 10010101 (D) 11101001
: (3
T F13 UF &g 0 &1 0 @ 0F H FHiT T
(A) 11111101 (B 10101101
© 10010101 (D) 1110100} e of Pis
test v
107. If 31PS is multiple of 3, where Pis ten's digit, then the 872
A) 9 B 3
(C) 6 D) S
. : sfigrad 7 8
ﬂﬁ’:%l%, 3% O ¥, TR p qEr @ 3 &, A p ;AN
A 9 (B) 3
(C) 6 (D) 5
108. Value of 25+12 x33-25+5 is
(A) 1216 (B) 79%
1
,{Ql 416 (D) 239g
25+12x33-25+5 H AT &
A) 1216 (B) 79%
C) 416 (D) 239%

109. The least number which is divisible by the numbers 1 to 10 is
(A) 1680 (B) 840
(C) 2520 (D) 5040

qE F-9 SIS W BN YR & I 1/ 10 T I GEwen | g € 7
w1680 X(B) 840

#£) 2520 (D) 5040

77777 | h 444
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110

111

112.

113.

5] M

e ace
Multiplication of Place valyeg o3, 4 and 5 in the number 60321045 1s equal to

(A) 60

(B) 600000
(C) 60000

(D) 6000UOOL

¥ 60321045 H 3.4 5 3% Wy N & Ut T §

A) 60
{ (B) 600000

C) 60000
{ | AD) 60000000

The difference between the greatest and the lowest prime numbers of two

digits is
A 88 _B) 86
€ 89 (D) 95
A S F TR T T T D0 s e § s
(A 88 (B) 86
If the cost of 12 dozen pens is Rs. 720, then the cost of 25 pens is
(A)  Rs. 1,500 (B) Rs. 150
(C) Rs.125 - (D)  Rs. 1,250
S 12 T H T 720 592 2, at 25 YAt 1 g g
(A) 1,500 %o (B) 150 Bo
_AC} 1250 (D) 1,250 o

The average weight of 5 students is 40 kg. If one student of weight 50 kg has left
them, then the average weight of remaining students is

(A) S0 kg (B) 37-5kg

(C) 30kg (D) 625 kg

kckeam’ 11101111 P.T.0.
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52 1
. 'ﬂ{lﬁﬂﬂwwg'mm
5 O™l & alwa WK a0 fem ¥ afc =0} @ 0 O F

X o 9N a9 o w1 ahwa i R

(A) 50 kg ﬁ 375 kg
{C' 30 kg tD] 625 kg cost price of lh[’_‘
then
114, If a product is sold on 10% profit at selling price Rs. 30,

product is

(A} Rs. 360 (B) Rs. 363

(C)  Rs. 297 (D) Rs. 300 :

&1 4 74

T& 8] 10% & W faea g7 330 Bo qzaz?rwﬁ%,'rﬁwm
‘(A) 360 To (B) 363%°

(C) 297 Bo ~D) 300 %o

]

. If equal part
115. In a school under ‘shramdan’ camp, 12 students clean for 7 hours

: uired ?
needs to be cleaned in 6 hours, then how many students will be req

(A) 14 B) 12
(C) 16 (D) 15

wﬁmmﬁ‘w‘ﬁﬁ%rﬁawﬁamm,?wmm%mﬁ:mﬁm
6 T2 § WE AT &, o fhat o Y avEswar gt ?

-7 14 B) 12
(C) 16 (D) 15

116. How many bricks of measure 25 cm x 16 cm x 10 cm are required to make ¢

wall of size 20 m long, 5 m high, S0 cm thick, while there are two doors of sizt
2m x 1:5 m in the wall ?

(A) 11750 (B) 11000
(€) 117500 (D) 97500
77777 RBNIANN :
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117.

118.

el |

oY & ¢,
Elqﬁﬁ 25%* l&ﬁ‘nﬁ, IOﬁﬁimaﬂW:ﬁﬁaaﬂ Wg‘pﬁ )’
(A) 11750
11000
(C) 117500 '/:zr
)} 97500

In given figure OP| |RS £OPO

= 100° and £QRS = 140°, then ZPQR is equal to

R R S,

140"

0 P

100°

Q
A 80°

A (B) 60°
(C) 70 D) 50°

fed ™ {1 & 0P| |RS, 20PQ = 100° T L QRS = 140° A £POR T &

R S

80°

@ 60°

() 70°

(D)

S0°

For multiplication of two decimal numbers, such as 0-4 x 02 = 0-08, an

appropriate teaching-learning tool to explain the concept is

(A) Dienes block (B) Number chart

(C) Counting star (abacus) (D) Graph paper

P.T.O.
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(M] 54 g 3
S SvmeiE denag o A 04 x 0-2 = 0:08 F BES

FeTequy- ayfigm qmn ¢
(A) It s B) WG K

() Fram (srawa) i) o g7

L19. Which of the following represents 9, using tally marks ?
Ay W W (B) W

(€)W o) WM WK

. . .  cefora w2
et feet &1 g awd qu fretfeafaa o @ @9 @@ 9
(A) W ) M|

_AC) I (L

showin
120. If monthly salary of a person is Rs. 24,000, central angle of the sector, g
then the expenditure on

the expenditure on education by pie-chart is 60°,
education is https://www.pygonline.com

(A) Rs. 4,000 (B) Rs. 8,000

(C) Rs. 3,000 (D) Rs. 6,000

UF A FT GI8F a9 24,000 Fo €1 ITF a1 9 59 =g i 2-97 W A

el [F59EUE H G HT 60° €, A1 IFT W& 9 =T E
(A) 4,000 Bo (B) 8,000 Fo
(C) 3,000 %o (D) 6,000 o

77777 [ A
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e SECTION - v /) mvg - V
NVI
RONMENTAL sTypIES / Wataqul AT

Ther
C Hre )
¢ 30 questions in all in this section.

Questions are compulsory.

E£2 qoe ‘l"i Ef""_" 30 U9+ El
W Uy aiferard

121. Who is the first wom rest successfully

an of the world who climbed Mount Eve

from the Kangshung side 7

A) Bach i
(A) achendri Pal (B) Santosh Yadav

(C) Premlata Agrawal (D) Arunima Sinha

ﬁuﬁ@aﬁmﬁqmmw.mﬂdmagﬁm‘vﬁmﬂﬁm

CEAE 2
. AR) T a (B) Haw ARS
(C) UHEId AU D) el fawT

122. International Bio-diversity Day is celebrated on
(A)  21st May (B 23td May

(C) 22nd May (D)  24th May

ywr@uﬁa-ﬁﬁw&wm%ﬂmm% ?
(A) 211’-]'% ' (B) 23:@

)C} 22 ‘qé (D) 24 qé

7rz7 | IR PT.O.
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1 - _
23  Radio broadcasting in India atarted in the year

(A) 1926 (B) 1927

(C) 1928 (D) 1929
VR 7 Weat warr #t ypam faw ad g 2

(A) 1926 (B) 1927
. (€) 1928 (D) 1929
: . - 2
124. Which disease is caused by the deficiency of Vitamin-A ¢

(A)  Scurvy (B)  Nightblindness

(C) Rickets (D)  Beri-beri '

faeifam-g #t &t @ sF-w AT EA R 2
(A) W B T

(c) Rehza D) F-ah

-

125. Which is the biggest planet of the solar system ?
(A) Jupiter (B) Saturn

(C) Uranus (D) Neptune
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a‘ﬂqﬁmmmw,ﬁm_m”

A
T B wfx
(C) Az (D
) g8
126. Principle of 'Specific to General' is used in

(A)  Inductive method (B)  Synthetic method

(C)  Heuristic method (D)  Analytic method

e R AT 5 g P 4 4 e o A E 2
— A e faf B v fafd

(€ & v fafy by Favetwor fafy

127. Ranikhct_ disease 1S associated with
(A) Fishes (B) Honeybees

(C) Hens (D) Pigs

MEICRRUAT TR EG

(A) vt Ap) YRR

-

() [ (D) {R

-

128. The biotic components of environment are

(A) Plants (B) Mountains
(C) Fields | (D) Rivers
77777 [N
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TR & Maw gow ¥
UL ®)
© D)

129, Disadvantage of deforestation is
(A} Increase in soil erosion
(B)  Decrease in soil erosion
(€}  Increase in number of wildlife

(D) Increase in rain
TAET T goafomy ¥
g%y T AW | gl
AB) TR WA FHHI
(C) o4 it S=gait &t weA o gfg
(D) a9 3fg
130. Opium is obtained from

(A)  Papaver somniferum (B)

(C) Cinchona (D)

AP fFEd ue et & 2
(A) T9ER QT (B)

() o= (D)

3

Aloe vera

Centella asiatica

gorlq a7
J2oT Tt
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31 When was Clean India Mission launched ?

(A)  2nd October, 2013
(B) 2nd October, 2014
(C)  2nd October, 2015

(D)

1Sth August, 2014
@D A v g E f&a myy o

A) 2 .
(A 2 KT, 2013 (B) 2 W, 2014

CF, 2 3R, 2015

(D) 15 37TE, 2014

132. Match the following and choose the correct :

) Malaria (a) Entamoeba histolytica
(1)  Amoebiasis (b} Mycobacterium tuberculosis
(w) Tuberculosis (c) Plasmodium

(v) Cholera (d)  Vibrio cholerae

A @) -(e (i) - (a) (@) - (d)  (iv) - (b)
B) (@) -(c) (i) - (b) (iti) - (a)  (iv) - (d)
€ M-(@ (i) - (b) (i) - () (iv) - (d)
D) () - (o) (11) - (a) (i) - b)  (iv) - (d)
Frefefan #t gifem ot @ w8t @ g7 =t -
@)  werar . § (a) ToearHan feRitemsfes
i) andfaufew. (b) TREERIEH S
(i) &% (c) weHIgan |
(iv) & . a) ol Rt

A B-  @-@  E-@ -
B) (-l @-b ()@ -
© @-@ (-0 - -

Sor @0 @-@ )b @)

e [ oo
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133. The house made of snow is known as
(A)  Igloo (B) Rain Basera
(C)  Green house (D) Basera

TF [ T T W e &
A T (B) W F®T

C) #@a e (D) /T

134. District of Rajasthan, which shares its boundary with

districts in the state is
(A) Bhilwara (B)  Ajmer

(C) Barmer (D) Nagore

Wmﬁﬂ,ﬁ@%ﬂﬁmﬁﬁ%waﬁﬁmwmé'%_
(a) siterarer AB) IR

(C) W (D) AFR

135. The set of clothes which are worn without stitching is
(A) Sari, Shirt, Cap (B) Turban, Sari, Kurta

(C) T-shirt, Lungi, Cap (D) Dhoti, Sari, Turban

FUgl &1 TE fo foot wem S &, ¥
(A) WIS, &, 2 B) U, WL, Fat

) A-we, i, 2t D) dielt, Frst, Wk
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136. Gregor Johann Mendel resesrched o

(A} Drosophila

(B)
IC)  Garden pea (I
T A AL 3 9 7 b o
(A)  FEfEan o7 (B
) TmHE Gz @ (D)

137. Who was the first Indian astronauyt ?

(A)  Kalpana Chawla

(B)

(C)  Rakesh Sharma (D)
T8 WA Sy A w4 7

(A)  FT Frge (B)

A€) TFW I (D)

Hat

Yeast

A

mz o

Sunita Williams

Raja Cheri

A e

e i

138. Which of the following forts of Rajasthan is also known as 'Chidiyatunk’ ?

(A) Ranthambore fort (B)

(C) Kumbhalgarh fort (D)

Mehrangarh fort

Sonar fort

Wﬁ#mémgﬁﬂ‘m'ﬁﬂm@tﬁmm%?

M TR & g (B)

(©) Fweg g (D)

TG i

| e
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Water day is celebrated on
(A} 22nd May (B)  22nd September
(C)  02nd February (D)  22nd March
& feaw g fem mmr s & 2
(A 2273 B) 22 fga=r
(C) 02wt D) 22WH

Which of the following enzymes is present in saliva ?
(A}  Pepsin (B) Trypsin

(C) Lactase (D) Ptyalin

frfefaa & /@ F-W T=TEH, @R § 3uRyd @i € ?

a) ofegs @) fefgm

(C) RF Jp)  TmEteH

Following traffic sign indicates

T

(A) Cross road (B) Pedestrian crossing

(C) Railway crossing (D)  Narrow bridge

77777 (RN
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Alaney

A :
SR (B) ¥ IR T
L) X i (D) dewdt qferan
142. Which deity (Lok Devtq) of Rajasthan is known as 'Deity of camels' ?
(A)  Gogaji (B) Ramdev ji
(C) Pabuji (D)  Bhomia ji

Wﬁmmaﬁ‘ﬁwﬁm'%wﬁmw%?
(A) TS B TEE S

AAE) fﬂq?ﬁ (D) sifigar i

143. 'The Wildlife Protection Act’' was enforced in India in the year
(A) 1962 (B) 1972

(C) 1982 (D) 1992

o & ‘ae st e sifufra’ few ot @ gan 2

(A) ._1_9_(__',_2__‘ (B) 1972
(C) 1982 (D) 1992
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. 15 18
1494. The organisation which publishes the ‘Red Data Book' of speci€

I;H ICFRE (B) WWF

(C)  ITUCN (D) UNEP

St st @Y vz T2 g WA wIA €, T WEA §
(A) 378 W U am § (B) =g 3= Tk

(C) g D) JuwAFd

145. Who coined the term 'biodiversity’ ?
(A} A. G. Tansley (B) E. Haeckel

(C) R. H. Whittaker (D) W.G. Rosen

ﬁa-fafaum(aﬁmiﬁz?)mmﬁﬁmm_?
(A) U S et (B) % &%

(€ M. TE. FEeH D) T=, M. T

\
\

146. Sclect the festival k‘rom the following which is celebrated on the full moon of

Shravan :
(A) Diwali (B) Holi
(C) Maha Shivaratri (D) Raksha Bandhan
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Frfefaa & @
Wmﬁw.ﬁmﬁqﬁmﬁmmt
) Fash
(B)  weft
© . AD) A

(A)  Arnod — Pratapgarh

B
(B)  Chauth kg Barwada — Sawaj Madhopur

(C)  Kelwara — Baran

(D)  Pushkar — Ajmer

ﬁm@ﬂﬁ(mﬁmmﬁamW)ﬂﬁmt?

— N .
W)’ 3R - g ) (B) o T T - A TR

—

ACr FeETET - aRd (D) &Y - AR

148. State tree of Rajasthan is

(A) Khejari (B) Neem
(C) Peepal (D)  Amaltash

TSI & T &I §

A T ®) =
(©) qget (D) HEAT
rrzz7 - |MRIUEAN Lns Pro:
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149. Which of the following enzymes i8 not secreted by P

ancreas ?

(A) Renin (B) Lipase

(C) Trypsin (D)  Amylase

frefefaa ﬁﬁm-mmﬂmmaﬁﬁﬂﬁﬁm%?
) P B) oA

© fefem (D) THEAS

150. National Aquatic Animal of India is

(A) Gangetic Dolphin (B) Whale

(€) Lion ~ (D) Chinkara

YR H TG STeid Tl ¢

(a) T SR B @

© W D)  fammm
rrzz7 {RANN
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